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For what reason is a slaughterer liable — 297797 SRR DWW VMW

OVERVIEW

The X773 cites a dispute as to why vmw is 21, According to 27 he is 217 because
of ¥y (dyeing), while XMWY maintains it is because of w1 n?vl. Our MdOIN
clarifies what HX1mw1 27 are referencing when they discuss vmw.
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X1 27 are not referring to the 7oX%n of wmw which is stated in our mw, for

that vmw of the 73wn is liable only because of 772w n9>L1 and not for yx -
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Since Y212 is clearly stated in our mawn -
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Rather X1 21 are referring to 7w e generally.

SUMMARY
X1 27 are referring to XnHY2A 7VNW, not to our FIWAH.

THINKING IT OVER
The X713 immediately clarifies that when 27 ruled y21¥ 21w he meant y21¥ 2wn X,
so why cannot 21 be referencing the m1wn that the vmw is Y1z DWwn A% 271?14

! The X3 knew that animals needed to be killed for jowna nax?a (for their hides), so it is obvious that killing an
animal is forbidden w1 n?01 own. That is why the X3 does not ask where there was vmwn in the 19wn. The
reason the 71wn states MW (and not 137177) because it follows 2% 7¥7 and a *2X can be vnwa.

2 21 could not have meant that the bmw in the mwn is ¥y21¥ DWn 270, since ¥X is a separate 72897 from VMW, and
there are thirty-nine N1OX77, so WMWY in the 71wn must be 21 because of mAw1 n2°v1. See ‘Thinking it over’.

3 In the 19wn they did not kill in order to sell the animals, but a regular bmw intends to sell the animal, therefore 27
ruled that in such a case he is ¥21% 0wn [AR] 2>°17 for he wants the neck to be red and appear freshly slaughtered.

4 See n Yw naw and 2717 .
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